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1. Factor completely:

(a) 3b*+12b (b) 1223y — 3y° (c) 927y — 32%y°
(d) 25z* — 16y> (e) 15az + 9zy — 10ay — 63> (f) 2* -3z —10
(g) 22% -2 —6 (h) 32% —2x+5 (i) 42* —12zy + 9y*
(G) — 32% — zy + 10y? (k) 2z* —22% — 1222

2. Solve:
(a) 32% =27 (b) 62 =3z (c) 2* -8z +16=0
(d) 2> =82 —-20=0 (e) 222 +2—-6=0 (f) 22 +2x=15

3. Determine the values for which the rational expression is undefined.

3z —2 x2—4 x2 —3x+2

(a) T— (b) — © 2 Trre




4. Perform the indicated operations and simplify:

(©) 42 +x -5 2 + 2z
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3 — a2 422 4132 + 10

(1) 24+ —12 ) 2 + 4z
2—9 T 2245246
222 — 10 x+4
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(a) 62° — 6z (b) 4yz 10a® 6
323 + 322 5a2 12zy ~ 3a
2?2 — Tz +12 222 — 8y?  4x? — 16y
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) a2b N b7 (k) 5 = 3
a? = b2 r+2 x-2
5. Solve:
2 Tz 3 1
Zi7= b -
(a) + x+5 (b) 20 —1 =z
T 1 2x 2
= d
(c) x—4+x+1 22 —3x—4 (d)

The answers
1(a) 3b(b+4)
1(d) (522 + 4y)(52” — 4y)
1(g) (2z+3)(xz—2)
1(j) (—3z+5y)(z +2y)
2(a) z=3,2=-3
2(d) z=10,z = -2
3(a) z=4
20— 2
x:z: —4
22 —4x +4
2 + 5y + 1022y
5x3y
Tab — 3a?
202 + Ta?
x=-10/37

4(a)

4(d)
4(g)
4(j)

5(a)

6/2022 YH, IP

5(b) x=1,2=1/8

1(b) 3y(4z® —y?)
1(e) 3z —2y)(ba+ 3y)
1(h) Not factorable
1(k) 22%(xz —3)(z+2)
2(b) z=0,z=1/2
2(e) z=-2,x=23/2
3(b) Novalues
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ap) 2 4(c)
4(e) @ A(f)
4x + 13 .
4 T3 18 4(0)
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5(c) z=2,2=-2

1(c) 32°y°(3 -4
1(f) (z—5)(z+2)
1(i) (2z —3y)?

2(c) z=4
2(f) z=3,x=-5
3(c) x=2,2=3/2

88 |~

+2

T
—11x — 22

202 + 17z + 21

5(d) z=-3



